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1. A mixture contains sugar solution and | 1 As Mgl wisell ull ua 29(let
‘-—'—-__-‘—'— s
colored water in the ratio 5\»:_3, If 10 litres uR(letl Olqﬂﬂ‘e 4 -3 9. % Bl
of colored water is added to the mixture, 10 @22 290t wgll GRRaML LA dl
the ratio becomes 4 : 5. What is the initial OJQHTR 45 A D. Al WAL
quantity of sugar solution in the given RsLolMl Wisell wielld uHIRL %2 T\,
mixture ? I«\l‘b a)lg 4.3
+ to (A) 8 [@e?

(A) 8 litres \?

FM@.’ (g L %5 (B) 10 @22

(B) 10 litres
ﬁ{—’ E’ (C) 20 (A
L(,@)/20 itres -~ ' 3xt|0

(D) 25 litres = (D) 25 ([Ae?

4x5 /O HN&S

. ™ \ M, ¢
business, each investing Rs. 1&000 39000 $1RL 53 As dul A3 52 8. 5 H(&all
After 5 months, P withdrews Rs. 3,000, ugl P 3/- 3,000 A Q - 2,000 GUS
Q withdrews Rs. 2,000 and R invested 8. %A1 R dy 3/- 3,000 o AsLRL 2 B
\/\/\/\/W e e
Rs. 3,000 more. Atthe end of the yearatotal gl A5 crell Bl 3- 34,600 A o8l
profit of Rs. 34, 6800 was recorded. What s 2l A2l d P, Q AUAR o1l Bl 32l

the share of P, Q and R respectively 7 |, 53\ ?

N 10 600 9,900, 14,100 mcﬁ'eptﬁ\r\ (A) 10,600, 9,900, 14,100

(86,900, 10,600, 14,100 ~ (B) 9,900, 10,600, 14,100

(C) 14,100, 10,600, 9,900

(D) 10,600, 14,100, 9,900




3. Five ships J, K, L, M ana N are 1O
be unloaded on 5 consecutive days

beginning from Monday to Friday.

. Each ship takes exactly one day 10

unload.

. K must be unloaded on the day
preceding the day on which M and N

are unloaded.
I1l. L cannot be unloaded on Tuesday.

V. M is the second ship to be unloadea

after J is unloaded.

If M is unloaded on Friday, which one of

the following is true ?

M unloaded on Wednesday
(B) K is unloaded on Tuesday
(C) L is unloaded on Monday

(D) N is unloaded on Thursday

4. If + means x, —means +, x means + and

+ means —, then the value of
-94+8x3+20is

0

=2 =6t -=0
(B) 6 = 20--R0

ofin

(D) 12

. R Uddl K o wicll s:¢le] 8.

1L L HolnlR wicll 83l sl
al8l.

V. m ol J ugdl vuell UellR o{l%f
i, Al
Wed Thw

aslol 8. )
For.
Bl M A Ysalz wicl saldl

uicd] dlal dl «(lAsudsl 5 AR O 2

(A) J A ojticl? wiell sRaunl ui] &

(B) K o 1otqar wicll seaunl
UlR] &

C) L Ama? wiell seuni ey B

(D) N ol 913alt? wicll s2cuni 2] B

4.°ﬂ+°ﬂ0l91x,——oﬂu?i + X ol W =
Ul + oll WY —, Bl Al 6 — 9+8x3 + 20
of YU

(A) — 2



Ciii)

5. Ws % utmcﬂ A0l RAld A wdl B,

given below. Which number wi |
T r will come in x of| og2a1ul s2Al vis WA ?

@ =T . o - .

Lt (A) 1
%) . = (B) 3
(C) 5

(C) 5

T 6 S5 (D) 6

-- (i)

- 6. Teaching at higher education should | 6. G Q&R Rawdl wul@an 2inal

avoid the appr
pproach of 53 2
\(y/ Covering every bit of content step by (A) HL dolsstalr €35 ([ANAcRdA
step in the class AU A B

(B) HTERld Qe ual Q&R

(B) Guided learning and self learnin
v y (€) izl Wl s,

(C) Motivating learner, use of selflearning 2el(9lattell GuLlaL Ul ﬁ%%c—t
and lectures on difficult content [abluqeq, W2 sl

(D) Combination of self learning with (D) $lyec @28 AR Qe W
digital platform based teaching @ Rlo] AAY e

~7. In Discussion method of teaching which | 7. [Qlatatell uA Ugldul sl usiRell

type of questions have limited role 7 yaloll @st HARct AL B 2
(A) Higher order questions (A) G A8 usl
(BY Yes-no type of questions (B) sl-oll UsLRall WS

(C) Hypothetical issue related questions (C) Ulqlll@d &L Aol d usl

(D) Critical awareness related questions D) ¥2et o)ld dolltld yal

Paper — |




; Q Instruction, scientific inquiry, case
study, brainstorming

w Preaching, case study, brainstorming
and indoctrination

ZQ) Brainstorming, preaching, surmons,
Instruction

\}D)/ Tutorial, case study, brainstorming,
Indoctrination

9. Which of the following set of variables

~of learner largely influence the learning
outcomes ?

(A) Motivation, comprehension, gender,
cognition
(B) Study habit, religion, motivation,
socio-economic status
(C) Religion, socio-economic status,
vocabulary, cognition
\(9)/Cognition, study habit, comprehension,
" motivation

0. oldotl 2ol A H2leldl JITCIET

wBelal yeuldd §2 8 7
(A) WU, UMY, o[, A UG

(B) vlelde(l WE, UN, DELTS
M@ s s RAA

) wil, au®@s wlEls A,
IGERLSIO, AHwS

(D) uHs2Ulsa, veA™e(l WEA, UHY,
DER

10. Characteristics of teaching as profession | 10. cldul A3 Qe clLa@ls il

does not ensure

Maving a code of conduct

(B) Freedom to work independently

(C) Good earning and family life

(D) Freedom of research and student

counselling

paper — |

yABld sl 12l
(A) BUARJUS AL ©pgA B
(B) et A s1u s2coll 2edAdl

(C) WAL suigl wa §3@As Yt

(D) A tietol 2ttt 2 @endled
ERTE)]



11. Which of the following are a web 11. ol et W4l sl Aot GIGRH2 & 72

browser ?
e slaulge

1. Microsoft edge )
2. A 5H

3 ofletl st slal

4. w03

2. Google chrome

3. Mozilla firefox

4. Opera
5. 4§zl

wel Qsclluidl 2l G UME

5. Safari

Choose the correct answer from the

options given below. &2\
A
\(9)/1s233,4and5 (D)1,2,3and5, (C)1,2,3,4u35 (D)1,2,3u9l5
12. Which of the following are used ir 12, o(lAotl USl sAL £2A U AR

video-conferencing ? 2[R A2Lel (conferencing) Mi dAuRAA B 2

1. Google Meet 1. o e

e slAlse 2
2. Microsoft Team 2. (Jposialee

3. Cisco WebEXx 3. sl AxsU

4. Skype 4. il

5. Zoom meeting 5. M H{LZhL

Choose the correct answer from the e Rsclluisl Aol Geir e
options given below. 53.

(A) 1,2,3and5 (B) 1,2,4and 5 (A)1,2,3%A 5 (B) 1,2,4%aA 5
C) 1,3, 4and5 Dy 1,28 4and5 | (©134uA5 (D) 123,45

00



h 13. The first Page of website is called

14. Given below are two statements :

\ﬁt/atement - | : SWAYAM stands for

study webs of active learning for young
aspiring minds.

KStatement - Il : All MOOCs on the

SWAYAM portal are credit-based
MOOQOC:s.

In light of the above statements, choose
the correct answer from the options given
below :

(A) Both Statement | and Statement |l
are true

(B) Both Statement | and Statement ||
are false

(CY Statement | is true but Statement I
s false

(D) Statement | is false but Statement ||
IS true

Paper - |

13. QuaAlSeal UM Uletlal 56 €.

(A) Hy U]
(B) 9J& Ula]
(C) wllotna} Uld

(D) vied Uld

14. (12 A (Aulell HUEL 8.

Qeutet | : Ay (SWAYAM) A 28l
Aol s AUsdld dolon sk 2ol

BlawAoL HIEeS of &5 3U 8.

[Qtuet Il : a2y (SWAYAM) WEA UR

Guce ol % s (MOOCs), 5Sl2-
SRS Ys (MOOC) .

GUAsd ([Arelloll ded 1A A
[Qscqluiell 2%t G2 WdE 53\

(A) oial [Qtitet | el @Qttet 11 WAL D




15. Given below are two statements, one is | 15. 12 o (Aulell VUL 8 Usa (A ulLet

labeled as Assertion A and the other is A ulal oflaal sL20L R A% stuel et
labeled as Reason R. 53¢ . . 3
Assertion (A) : ‘Router’ is considered as [Qttet (A) @ RG22 dc A

u1G2Y2 Gus:W sél sl
51200 (R): AG2 W As% UHA HUEA

Wscll 2 8 ual HA uivd 53l a3

poth input and output device.

Reason (R) : ‘Router’ can send data and

receive data at the same time. 2
In light of the above statements, choose GUalsd [@Quiellett deel oA 2wl
the correct answer from the options given Qe 2002 G2 Ude 52U
below :
(A (A R L 8 ol (R) 2 (A)d]
\(ﬁ({ Both (A) and (R) are true and (R) is (A) 4L (A) el (R) v

| 102 URL$WL B
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is (B) ¢ial (A) el (R)uLAl & Uc} (R)2L (A)e]
not the correct explanation of (A) A2 UL 5RL otell
(C) (A) is true but (R) is false (C) (A)U3 B u2d (R) W B

(D) (A) is false but (R) is true (D) (A)Wlg ® U (R) 0 B

16. Ravi travelled 4 km straight towards | 16 3@ e@q 2% 4 Gl Al yausd

South. He turned left and travelled 6 km 8. A soll ds all AU 6 (3l R
straight, then turned right and travelled gl 52 8, ugl xRl drs ad B

4 km straight. How far is he from the uA 4 (5l R ﬂ%ll&ﬂ 52 8. dl o
A3ulcell RAAA 32 g2 &9\ 2

starting point 7




Rueu i
a1g(d, 500
A2 el §201(3
17. The following diagram shows the number | 17. [auaul (A 21192 cll Yyl
of students who got distinction in the Qeslloilell v calad 8.

subject out of 500 students.

B allds (Asta
?mw old

ol A @Qualui | (Ao aldadl Wl
s2012L @Qenallell estcatdl 32dl & 2

(A) 6%
(B) 8%

(C) 10%

(D) 12%

18: Acartravels 25 kmata speed of 25 kmh, | 18. As 122 25 BRUscls o 2sA 25 ()

next 25 km at a speed of 50 kmh and the Jasl 52 B, udleu 25 (531
next 25 km at a speed of 75 kmh. What %0 Gl-ﬂ/sc«us U A 25 Bl
75
s the average speed of the car ? BrlUseus ol 252 Hascl s 3. Al
Hl2Re{l AR AU Foell D »
(A) 64 kmh (A) 64 (3:Uscus
(P71 50 kmh (B) 50 ($3{Uscus
1) 46 kmh (C) 46 BrlUscys
(D) 41 kmh




D

19. The quarterly sales of a particular mobile | 19. a¥ 2022ul 2l s Add [Qrcimi

In rural and urban a | ;
o, ~ospntieny during year 2022 auys Wousee] GRS A oA
Yorol 8.

m Sales in 100 units -
elelaa

%7 Al Q, Ml QALe(l 2stausl 2l & 2

(A) 20.5% (A) 20.5% Bl $

(g) 25.0% (B) 25.0% x 5

(9F 23.5% (C) 23.5% ~E

(D) 30.9% (D) 30.9% '
o2 WRA wdA B,

22 26 18 15 30
20 16 22 24 25
38 36 28 26 25

40 34 36 20/32/ 40 34 36 20 22
12d 1l o 9 .

What is the percentage of‘observatlon wd219L 5l L WaAlsall ofl 2siansl
below average ? Jp 2), % dolll D 2
(A) 40% | % ér (A) 40%
(B) 45% i%/}j/ (B) 45%
(C) 50% - (C) 50%
oe% S22 2p 90 0A
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A 2emigl 58 UL AL AHL

21. Which of the following institut 1.
— ollowing institutions | 2
responsible for quality technical and djeLalTiiy s dils v NA%HoT
Management Higher Education in India ? G2 (9180 Ul A ALGLEL & 2
(A) NCERT (A) NCERT
(BY AICTE (B) AICTE
(C) NCTE (C) NCTE
(D) NIEPA (D) NIEPA
22. 'NAAC’ assessment cycle is for 22, ‘(al5) NAAC’ FlIEL] w5l waldl
(A) 3 vyears 0.
(A) 3 a¥l
@*)/5 years (B) 5
(C) 10 years (C) 10 o
(D) 7 years (D) 7 ay

23. The National Education Day in India is | 23 azcul e:a¥ 0fla Qe Rax <l

celebrated every year on Gosclll sau (Be Al & 2
(A) 14t November (A) 144l ol dae?
) 5" September (B) 51l U042
\(Q‘/‘I 1t November ' (C) 113l A6
) 2" October (D) 2% dlls2lolR

24. What is the full form of ABC, according 24. NEP (2020) oll €6l ABC of Y3 ollH g

to NEP (2020) ? 8 ?

W Academic Bank of Credits A) AssMs ols A s LN ER

(B) Academic Bank of Certification (B) Asss ds g U552
(C) Annual Book of Credits (C) s o5 2lg 3Sle

(D) Academic Basic Certification (D) AssMs ADRs w132t

Paper — | 12 00




. NIRF oll 2023ell UMl YRS
Yool LRcHL 58 dAUL YUH 50 & 2

(A) 11Sc, olatcl?

(B) IISER, Yatl

\(QY IIT, Madras

(D) 1IM, Ahmedabag

(C) IIT, »aru

(D) IIM, a1 elale

Scientific -
method of 'éSearch involves | 26. A uste{l dsis uglQui y(satell
the process of ' UHLALL AL B

(A) Induction (A) o5 %910l

(B) Deduction (B) Slssalet

(C) Indo-deductive method (C) 8os1-Slsséla ugld

(D) Contemplation (D) Rlctet

27. Snowball sampling method 27. wllolld aiyoll ugld

\(}(ﬂs most preferred technique during (A) udal uald el Al ay
survey method UAENLel dAsells &

(B) Provides representative sample for (B) WAlls weuy W2 wAl® o}l
experimental study YElel %2 B

(C) Is suitable to identify sample from (C) vsllcl uHRui oMol Lol
unknown population M1 A0 B

(D) Use rolling ball machine 1o get (D) RWSH olyoll Ncal 12 Aol Al
random sample Hallotell G0

Paper - | , $



28. Which of the following is the correct

statement of historical research ?
N N

(A) It is not a scientific inquiry

(B) The extrinsic data validation 18
assumptive

»g. sl(A6LRS Jqglltlol MI2 Al 53y

(C) The findings are subjective to a great

extent e
i JLEL
(DY Reveals past with no contribution to (D) eQwuui 88 &
- qAslaa Yol2 52 ©

29. Which of the following is a discrete | 29. o Aotiuiell 52l B AA B?

ST (A) Qe off& wis

(A) Human IQ score

- (B) MQe(l QLuLes
(B) Human height
Mmber of human beings (C) l-llLD,l%ﬂcﬂ u=ll
(D) Human weight (D) wiatle] coset

30, Which of the following statement is true | 30. wyer He ollA-uuidl 5y [Quist
“ for Swayamprabha ? ALY B ?

\(})/ They are MOOCs and certified for (A) A 45 (MOOC)® ua QulQauaa
credit consideration by universities glRL 3812 Wi w2 wuldld D

(B) They are educational programmes

' B) d SlaARS2 -8l
under direct-to-home (B) g-8H cdld a’\a@s

sldsul ®
(C) One has to pay to subscribe the
programme (C) sAsMA Mlau R Ysag] sa¢ u B
(D) They are focussed to the course content
D) d1 ol 12 QR0 wen Y Uo

from 1% standard to 12 standard el Y B

Paper - | X




g2 D
31. Match X with vy
. X

1. Proximic
2. Kinesic

31. X al Y wa %15\
X Y

1. Wsdlilsu a. 2udial Q1o
2. sgifallsu b, Wi3ls slasia

| GuloL
‘6/1 — G 3. dudlsu c. el Gualdl
B) 1-a, A) 1-c, 2-b 3-a
(C) 1-b, B)1-a, 2-b, 3-c
(D) 1-c, (C)1-b, 2-a, 3-c
(D) 1-¢, 2-a, 3-b
2. Use of ‘s ’ |
) ~alled Pace’ in COMmunication IS | 32. URUAAHL 'vdvell Gualdla
sdclld B,
( (A) WsAlH{lsu
(B) Chronomics B) DAfsu
£ A ©) o1y
(D) Haptics D) 2dlsat

33. The connotative meaning of awordis | 33. 20€ell AAAs VAU

(A) Subjective meaning (A) cafsaotd ud
(B) Oppositive meaning (B) Rzt

(C) Donotative meaning (C) YR wl

(DY Real meaning (D) WL AUAHL

cation. the | 34. Ycllet B, 3eaLseR RlllaR)
(A) At o] ABlAs JUidRNL

34, In the process of communli

receliver

(B) UL o] JULARWY
(C) A&l
(D) sLA a2l

15




’ cl % &3 4
Lsloll2il %L@.
35. ‘Demophobia’ reters {0 35. SHIS {1 ed2d
- X > (A) Yol
(‘\\ Fear Of (¢ 1th
B) ellsetl et

(C) Fear of speaking
(D) Fear of failure

4 sl 2516 (A5l e 2 B -

36. Which of the following are Sustainable | 36. of| Aol U
q wal viRealdal

~X_ Development Goals (SDGS) ? {1 W%
\1./ Clean water and sanitation 5 ol atlojﬂ
’Kg/[ie-‘forestatic.)n 3. waiazel ol
3 Climate action
& Quality education 4. Ry s [y
\E'/Aﬁordable and clean energy 5. UL Al A AR Gosl
Choose the correct answer from the el Qscldigll Al Grir UUE
options given below : 52
@3,4and5 (B) 1,3 and 5 (A) 1,3,4 wa 5 (B) 1,3 wa 5
%) 1.2,3and5 (D) 1,3and 4 C)1,2,3ua5 (D) 1,3ua4
37. Match the following and choose the | 37. ol wal [@Ascla Aol WA
~/_ correct option given below : Rscu UE 59\
G20 Presidency Nation G20 WHULUE ay A
year
. 2022 , a. Brazi . 2022 a. o\(Bct
1. 2023 b. India Il. 2023 D. ARd
11l. 2024 . |
0 c. South Africa . 2024 c. w6 wBs
V. 2025 d. Indonesia N e
o B N - d. HeSlalll
I | I || I\
(A)d b ¢ a
B)d b a ¢
C)a b ¢ d
D)b ¢ d a

16 :
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38. R i | |
ecently in February — 2023, a large | 38. dlBdMi, ¥ojuudl 2023M1 sl AU

P ::ii;hmsgiZi’a' reserve was found in ([@AR2an wellos ol og2ol uoll uicadl & 2 '
mmmu and Kasihhir (A) %13 o 519412
(B) Guijarat (B) 9%Ucl
(C) Jharkhand (C) BLRWUS
) Bihar (D) (ol&t?

39. Which of the following cyclone has | 39. o2t AL %l ARSI DAL B2ALS

affected the east coast of India in last Au{Hl ellRclell Yd deal yeuldd

gsAl B 7

few years ?

1, cladl§ (ursla

2. g stell

3. Al UBsa

3. Cyclone Taukte

- 4. cllAURLG VUH ol
u{ Cyclone Amphan

VAL @Ascudigdl a0a G UE
Choose the correct answer from the

. . 53.
options given below :
(A) 1,2 ua 3

(A) 1,2 and 3

B) 1 3
(B) 1and 3 (BF ua
\(26 and 4 (C) 2 uat 4
(D) 1,3 and 4 (D) 1,3 ua 4

Paper — | 17




40. Given below are two atatements, one 1S
labeled as Assertion (A) and the other s

labeled as Reason (R).

Assertion (A) : Air Quality Index (AQI)
of City-X is 257, while that of City-Y is 65
in the month of August — 2023.

Reason (R) : City-X is more air polluted
than City-Y.

In light of the above statements, choose

the correct answer from the options given
below :

(A) Both (A) and (R) are true and (R) Is
the correct explanation of (A)

Wth (A) and (R) are true but (R) Is

not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) Is true

41. Which of the following diagrams correctl
~ represents the relationship among tennis
fans, cricket players and students ?

@

18

(A) 6lat (A) A (R) WAL B w4 (R) A (A)e
02 U520 B

(B) olal (A) uat (R) Ll D uzd (R)2A (A)d
QoL undlsl «tdl

(C) (A)u3 ® uzdq (R)wlg
(D) (A)W1g ® ud (R)Y &

v | 41. oA e stauo il saL st

dollaoll  wed, B¥e @Al

Qeielelell UL WAL Y 53 B 2

(A)



42. sumpll'e' IS relat@d to ‘A L
way as Judge is 1o Match' in e same ‘ 42. sy (Roasdl) % la AU
edio (B¥enay wd AsOUAA & da UAd

@’/C el T o (eat2al®ary 56 A AsouAA 0.
(B) Lawyer
(A) 812 B) adld
(C) YsLE (D) slAELSl2A clsid

(C) Judgement

| ng'xi" a statement | 43. o1 wal ysMi vuUd (Al aleu
mbered and || d | wa 1l A uefald B Quiatlall vl

Nt and deci .
of the given assumption i« : e,C_'de Which 5dlal otsgl 521 3 vUUA WV 5O
PUoN is impilicit 7
advertisement give it Y Quiet : % dd 518 Mm32Ad wudl
- N new
“X"— A tellsto B SPape ULl 8l cl X BUHGULUA HL 24U
Assumptions : A,Ba 52 9.

l. ‘B’ wants to publicise

his Products aRew: 1. B Wdiell Wsse (Geuleat) ol

YRtk scl 1oLl sl

. \',\IVEV;Spaper X has a I ueua X 3 [daun
circulation. ASYALA (3eLA) upnad S
(A) Only assumption | is implicit (A) WA UREW 1% YRA B
(B) Only assumption Il is implicit (B) HuA @si 1l v A B

(C) ML HUIRRUL | A WRRL T YRAD

(D) tUR0W | &l e 1| el
Asupl o3

(C) Either | or Il is implicit

(D) Neither | nor |l is implici

4. P.Q. R S and U are the famly members. | 44. P. Q R, S el U A gguisl yeAl
P énd Q are real brother P ulal Q ¥ AL eU® R}
R is a sister of P. * 5 E R W P oﬂcgfclg.
S is a father of P. lSJ 3 Z :llll [Q:lt éi
Uis a father of 5. Al P ulal U a9 Joit A ?
What is the relation between_Fj’_and;J_? A) Dol e
(A) Granddaughter and grandfather
@)/ Grandson and grandfather (z) g:;:g E;;‘:%
(C) Father and son (C)
(D) Rl A Elsall

(D) Father and daugnhter

19
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5 7
i 2l
45. Find the next term of given series. 45. vl &AM
© A7T, E12Q, 19L, Q 2llul.
£E12Q, M19L,
(AY M28E ATT,
(A) M28E
(B) M25E
(B) M25E
(C) M24C
(D) M29E

@2 u.x 46 Al 50

paragraph and give the answers of questions AlA WAA $53 ail el 1A VWA

given below the paragraph. Ysllell cllol Ul
d wew sA B ¥ s mﬂ@a%'cr_t
aAlcdlaRRdl Gumwacla g (0,) -«

UMl Alal HA B, %15 dldlaWQlell
diatomic molecule (O,). However, in the upper | Guzell elotdl WEUAL Aell a_talal[ﬁs

part of the atmosphere, oxygen is present in | }3UML 812 B %ol WAl (0,) SSAL
its triatomic form called ozone (O,). Ozone 8. Al UHAUU AR 15 - 60
forms a layer at a height of 15-60 km in the (Blell GuSA As AR wolld B,

P — WlAlote] AR [AYage U Ul Aell
stratosphere. The ozone levels are low over or _ .
R e cate — 195 o1y B UA ydoll otns G2 D.

' es. R
foar the squatar and high) hear the poles ARt WA WBUYoto] Wit

Ozone is a highly reactive form of molecular | yQRayaflet w3y B wd BURIL M2

MRl B, Udd WU Al sRisies
RN YA 1A 510 ¥ A yeclofl
AUl o195 URAR D, cyui WAt

You have studied that elemental oxygen

Is found in the atmosphere in the form of a

oxygen and is poisonous for us. But we

are protected from its harmful effects as it
IS W near the surface of the earth.

Further, ozone protects the biosphere from the Slellsl2s uRaiwdl @QQRCQ{OiQﬂ oLl 21\
harmful ultraviolet radiations. It filters out the

m R¥AR0] 28l 83 B, A Yool w2 wadl
radiations coming to the earth and maintains

the temperature of the earth. ;Gmajtt?a%ga @ ?Jla. "{9400.01 AlUH Lol

Paper - | 20 00




47. Ozone means

M triatomic form of oxygen

(B) Diatomic molecular

(C) Elementary oxygen

(D) Carbon dioxide (CO,)
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(A) [Qyagd
(B) gl

(C) [Ayagd uA Y i vz

(D) Qyaqgd ugl otdl wud ya QL o8l
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(A) sAYoto] Rui@R 3Y
(B) stllelMs w1 s

(C) s W ENogoy
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48. Ozone is a molecular oxygen which is

(A) Neutral

(B) Inactive

) Non- -DOISONOUS

\DJ/nghly reactive

49, WAt agcllcl2Qlt (biosphere) &l
A 8.

149. Ozone protects biosphere from

(A) Clouds and acid rains (A) cLel o ARSel cRulel
(B)Y Ultraviolet radiations (B) uc@lcueﬂ@.a st (ule%io{c{l
d2a0) 4l
(C) Pollution
(C) ugnLell
(D) Cyclone (D) wasAet(cctAg) 4l

90. The reason for thinning of ozone level 50. WAl 2clRel Ulcoll Uclle] SIRAQL.

(A) Excess use of O, (A) A (5R e (O,) oll ctllz GuallaL

(B) Release of CO,- o ?(;Oc:t%‘:il)ansmgs (C0,) < RS

_ chessive use of chlorofluorocarbons (C) SARISEYRA slolodoll At GUALL

(D) Slolol HlAlsUS Soll cLtlld Guoot
(892l usd)

(D) Excess release of carbon monoxide
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